

$$2 \rho \sin \theta_{n+1} = \sqrt{2 + 2 \rho \sin \theta_n}$$

$$4 \rho^2 \sin^2 \theta_{n+1} = 2 + 2 \rho \sin \theta_n$$

$$4 \frac{1 - \cos 2\theta_{n+1}}{2} = 2 + 2 \rho \sin \theta_n$$

$$-\cos 2\theta_{n+1} = \rho \sin \theta_n$$

$$\therefore \rho \sin \left( 2\theta_{n+1} - \frac{\pi}{2} \right) = -\cos 2\theta_{n+1} \cdot \rho \sin \frac{\pi}{2} = -\cos 2\theta_{n+1} \quad \text{ておぼしめす}$$

$$\rho \sin \left( 2\theta_{n+1} - \frac{\pi}{2} \right) = \rho \sin \theta_n$$

$$2\theta_{n+1} - \frac{\pi}{2} = \theta_n, \quad \theta_{n+1} = \frac{1}{2}\theta_n + \frac{\pi}{4}$$

$$x = \frac{1}{2}x + \frac{\pi}{4} \quad x = \frac{\pi}{2}$$

$$\theta_{n+1} - \frac{\pi}{2} = \frac{1}{2} \left( \theta_n - \frac{\pi}{2} \right)$$

$$\theta_n - \frac{\pi}{2} = \frac{1}{2} \left( \theta_{n-1} - \frac{\pi}{2} \right) = \left( \frac{1}{2} \right)^2 \left( \theta_{n-2} - \frac{\pi}{2} \right) = \dots = \left( \frac{1}{2} \right)^{n-1} \left( \theta_1 - \frac{\pi}{2} \right)$$

$$\therefore \sqrt{2} = 2 \rho \sin \theta_1, \quad \theta_1 = \frac{\pi}{4} \quad \text{ておぼしめす}$$

$$\theta_n = \left( \frac{1}{2} \right)^{n-1} \left( -\frac{\pi}{4} \right) + \frac{\pi}{2} = \frac{\pi}{2} \left\{ 1 - \left( \frac{1}{2} \right)^n \right\}$$

$$\lim_{n \rightarrow \infty} \theta_n = \frac{\pi}{2}$$